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1. In the course, we used null-field integral equation
0= j TE (s, X)u(s)dB(s) — j U E (s, X)t(s)dB(s) to obtain t(L,6)=cos@.
B B
Substituting the degenerate kernels U'(s,x), T'(s,x), u(L6) =cosé, and
t(L,6) =cosf to 2au(x)= j T'(s,x)u(s)dB(s) — j U' (s, X)t(s)dB(s) to obtain the
B B

exact solution u(p,9),0< p<1,0< ¢ <27, where

u' =InR—ii(§)m(cosm(6—¢)), R>p -
U(s,x)=Inr= m1 M

= Inp—i%(g)m (cosm(@—-¢)), R<p

Repeat the procedure by approaching the boundary from the domain for both the
interior and exterior problems.

Vau(x)=0,xeD

u(d, ¢) =cos¢ u(L ) = cos ¢

Exact solution Exact solution

)= pcosg,0< p<L0<g<2
U(p.§) = pcosg,0<p<10<f<2z u(p,¢)=£cos¢,p>1,0<¢<27z
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